Trigonometric Transformations Name /7
Supp Alg 14. 2 Date

Use a graphing calculator to complete the following.
1. Sketch the graphs of y =sin@ 41, y = sinf — 1 using different colors and label the graph with the

equation. ‘
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b). Describe the transformations that occurred using +1 and -1.

Hhe (1) snifts ol prs wp one wnt |
e (1) Shif4s ol pYS down o ruunLT

2. a). Sketch the graph of y = — sin 6 using a different color.
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b). Describe the transformation that occurred from having a negative coefficient.

5 5 @ ~ o - r ~ 7/ . |
TNe e WOVL Was feflcted. over Tie

\/ LS
X - f}\'\/ A



3. a). Sketch the graphs of y = sin(e —60°), y =sin(0 + 90°) using different colors and label the graph

with the equation.
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- “b)." Describe the transformations thaf.dccurred'usihg“-éo and 90 This transformation is éalled a phase shift.
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These transformations hold true for both the cosine and tangent functions as well. To summarize
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Steps to graphing without a calculator:
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1. Graph the new midline, max line and minimum if applicable.

2. Determine the period.

3. Apply any phase shifts & graph following the patterns of the parent function.

Sine = midline, max, midline, minimum, midline
Cosine = max, midline, minimum, midline, max

Tangent = midline, asymptote, midline




14.2 Notes and Examples Day 1 continued

Let’s try to graph some functions without our calc. State the amplitude, period, vertical shift, and phase shift
b

Poneat of ¢ oS<9
¢ 0.l 3
f):)ﬁ,Dz -\cD trounts ot
- l s - 7Q: ﬂ:!mi A-"»"PS ‘ O — \ L \
" oo hg,;,_oz\g:g,\%ﬁ\r‘iﬁl““““ ——— . 0 3
N

—————— 0 40 kb 210 3UO - 2
o 45 b 135" 1¥D

Plot +noese
for x axis

| =( .. on 0 Up one + bealow one for tne
| Amp ‘% 3 MIin & ML
Ex2 y = 5sin(6 + 309)

amp._ O per3W0 vs. O ps. |ef4(30")

NGU'-\MQ ble. +on does not have nmax + min
my:%ta~1 20° 0@5( f
T N
Amp:ND  Pper: V.S: db\l)ﬂl P.S. D L-_‘ _d')i
P((‘\Q ( | f‘:‘ 150
’ l 0 96
I é (o] 3'.00‘ 720

| ' —
| | '
/A =

_ Ty~ loso HO

NLw X xS




